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1. Determine the volume of each object.
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2. Determine the surface area of each object in question #1.
a) b)

15.6 in
8 ft

234 in 11.7 in

SA = 2(lw+(ht ()
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2. Determine the surface area of each object in question #1.
a) b)

15.6 in
8 ft

11.7 in

6 ft

SA = 2/77?2 + 21N
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= 15'9--08 + 25(.33
= 4o8.% "
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4. Determine the volume and surface area of each object.
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4. Determine the volume and surface area of each object.

b)

\fo = ’IT('Z}\
SA = Te*h+lies

Vel = Tz Bl sals

= 43659
SA = Tx84 x 2.5+ TxB.4x23.]
= 474592 + £09.59

= 5325.5~"
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3
9. A triangle has a base of Z‘E inches and height of 3% inches.

a) Determine the exact area of the triangle.

b) If the triangle is the base of a prism with length 5% inches, determine the exact volume of

the prism.
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= 355_' = 128
i = 2/2- N
128
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10. A backyard ice rink consists of a rectangular middle
section and semicircular ends. as shown in the
diagram on the right.

a) Determine the perimeter of the rink.

b) Determine the area of the rink.
c) If the ice has a thickness of 0.2 feet, determine the volume of ice used for the rink.

= Semi Semi
0\) P C;C'ClQ i 2 l%‘”ﬁ + erele
= 20 Mx2
Tl—x?_ + 2x2 t ; 2

N

30.42 + 4o + 3142
= (a2 .84k
b) A= Ele+ rectargle + e

ci
= x4 zox2o + TxIS
2

= [Sas 4 oo+ |SheS
= HeALE
C) \/‘: Gf'ep\)(dQP"('A
= FI42x 0.2
= 142.84L*
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11. A circular pool with a radius of 9' is to be placed in the centre of a square backyard measuring
40" x 40', as shown below. The remainder of the yard will be covered by grass.

a) Determine the area of the yard covered by grass.
b) Three sides of the yard will be fenced. If the homeowner
can install fence at a cost of $28 per linear foot, find the

total cost of installing the fence.

c¢) If the depth of the water in the pool is 4', calculate the
volume of water in the pool.

Aca _ thea e
a> 3(ass - yacd T ool

= (‘(—OKL(-O)“<1TX °|z>
= /éoo - 25%.5 Q) Vol = afea x dagh
= 1345.5 f£° =(Tx9)x &

b) lowh peeded = 54D - 7545k y

Gost = lowth x $28 = lol8 £€3
[20 X 28
$3340

n
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14. The entrance of the Louvre in Paris is a square-based pyramid with
a height of 21.6 m. The side length of the square base is 35 m.
Calculate the total surface area of the four triangular faces to the
nearest square metre.

ot
fran = WX b”’e’;
) " s NoT e octral

SCARNT HelCHT

Apr 9-21:33



6.6 Measurement Calculations in Three Dimensions.notebook May 13, 2024

18. A concrete mixing silo consists of cylindrical rings and a conical spout. Each cylindrical ring has
a height of 122.5 cm and a diameter of 322.5 cm.

a) How much volume, to the nearest tenth of a cubic metre, does
each cylindrical ring add to the silo?

b) Determine. to the nearest tenth of a cubic metre, the volume of
the conical spout if its height is 230 cm.
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18. A concrete mixing silo consists of cylindrical rings and a conical spout. Each cylindrical ring has
a height of 122.5 cm and a diameter of 322.5 cm.

¢) Determine the volume of a silo with 6 rings.

d) Write an equation to model the volume, V (in cubic metres), of a
silo that has n rings.

e) If a silo must hold a volume of 110 m’, how many rings are
needed?

C) Vol = Vol & CirQS + Vol Spou\t

Ex 0.0+ ER
= &6~

d) Vol = (0.0n + 6.3

e) llo=lo.0n+67
llo-6.32 = 10.0n+63-63 |
3. >= l0.on — N~ [0.37 rinas
ol 18-S = Need [l firgs
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